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The answer to each question is in parentheses at the beginning of each solution.

a 2 < 3
) (dor%) ada=71 _Taz

a
3 -

(N1

=5 A5

2) (bor47) dR(50)=S5,dR(47) =2, dR(22) = 4, dR(39) = 3, dR(85) = 4. (dR(85)=8 + 5=

13,1+3=4)

3) @) Tead = g 50

4) (7&10) (x-9) 7willequal 1ifx-7=0o0rifx-9=1. Thusx=7orx=10. (Ifx =28,
(-1)' #1)

5) (48) Let x = number of ft. underground. x + 12+ 5x +3 =69. 6x=154;x=9.

5(9) + 3 = 48 ft.

& 1 Marla ran 100 yards for every 95 yards Lynn ran or Marla ran 20 yards for every
19 Lynn ran. 220 +20 = 11. While Marla ran 20 yards 11 times, Lynn ran 19
yards 11 times. 19 x 11 =209. 220 - 209 = 11 yards ahead.



